ARC FS Series

LINEAR MOTION TECHNOLOGY

HERYT B # R~ (mm) B EE R~ (mm) B EE R~ (mm) mEEMAKN)|  FFRE (Nm) =
B R B SRR A%
H W2 | Wi H1 P Dxdxg1 Y L L h2 P1 P2 Mxg2 | Mi T N1 N2 N3 E N S2 S3 S4 C Co Mro | Mpo | Myo | JBEE(g) |/B#(g/m)
ARC 15FS 24 |18.5 15 15 60 |7.5x4.5x5.3| 52 | 41.2 26 20.7 o 41 M5x7 M4 7 M3x6.5 M3x6 Bl 35 4.5 7.5 15.6 16.7 7.7 12.1 100 50 50 132 1290 ARC 15 FS
ARC 20 FS 28 |19.5 20 20 60 9.5x6x8.5 59 49.2 | 32.2 23 - 49 Méx10 | M5 | 10 | M3x7.5 M3x5.5 P4 10 4 7.4 19.1 19.8 12.5 19.3 205 100 100 210 2280 ARC 20 FS
ARC 25 FS 33 | 25 23 23 60 11x7x9 73 | 57.4 (384 | 27 - 60 M8x12 | M6 | 12 | Méx7.5 M3x6.5 P4 12 5 9.3 222 | 232 182 | 27.3 350 160 160 345 3020 ARC 25 FS
* ARC 30 FS 42 31 28 27 80 14x9x12 90 68 44 35.2 - 72 MI10x15 | M8 | 15 | Méx8.5 Méx5 P5 12 7.5 12 27 26.8 23.3 | 33.1 520 230 230 750 4380 ARC 30 FS
ARC FN Series
ARC 15 FN 24 118.5 15 15 60 |7.5x4.5x5.3| 52 | 55.5 | 40.3 | 20.7 | 26 41 Mb5x7 M4 7 M3x6.5 M3x6 EE} &8 4.5 7.5 8.9 10.9 9.9 17.5 140 105 105 200 1290 ARC 15 FN
ARC 20 FN 28 |19.5 20 20 60 9.5x6x8.5 59 69 52 23 32 49 Méx10 | M5 | 10 | M3x7.5 M3x5.5 P4 10 4 7.4 13 13.7 17.1 30.0 325 230 230 336 2280 ARC 20 FN
ARC 25 FN 33 | 25 23 23 60 11x7x9 73 |81.2 | 622 | 27 S5| 60 M8x12 | M6 | 12 | Méx7.5 M3x6.5 P4 12 5 9.3 16.6 17.6 | 248 | 425 540 385 385 524 3020 ARC 25 FN
ARC 30 FN 42 31 28 27 80 14x9x12 90 | 955 (715|352 40 72 M10x15 | M8 | 15 | Méx8.5 Méx5 P5 12 7.5 12 20.8 20.5 328 | 53.7 845 565 565 1200 4380 ARC 30 FN
ARC 35 FN 48 &9 34 32 80 14x9x12 100 [111.2| 86.2 | 40.4 50 82 M10x15 | M8 | 15 Méx10 Méx7 P5 12 8 15 23.4 | 24. 45.9 82.9 | 1700 | 1080 | 1080 1580 6790 ARC 35 FN
HiLxREBPHORR 2RFPEEEWNERABERTER 3. N2 & /7 o 5L 4. Nk E5EMAMORE M E R
5. N2~ Ns7E iR » B AHM  ERAAFELETE
Mo My/Myo BEIEE A R TYIRIRISO 1 47284 W18 + MMERH S
Lam.) Mp/Mpo HRFRRLBH  REEDAHEERERELT 7

—~
cico b e

]

[

e

FLL.266F o

REEZMERNMRBRRAER - HIORNBRETIRT
FE100kmEYESTIERE - {5 IT ESOkmEE T IR B E R B EHp
#05  HEE T A2 E8) R 1T7E 1 00km ) 8872 B £ 155 C 1008






